Multiplication et Division par 10* (E)

Trouvez chaque produit ou quotient.

67 + 102 = 77 x 10% =
53 = 10%= 4% 102 =
37 x 102 = 60 +~ 10% =
37 x 10% = 63 + 10% =
3+10%= 29 + 102 =
21 x 10% = 79 x 102 =
25 x 10% = 88 x 10% =
15 x 102 = 14 +10% =
30 x 10% = 37 X 10 =
24 +10% = 87 + 10 =
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Multiplication et Division par 102 (E) Solutions

Trouvez chaque produit ou quotient.

67 +~10%=0,67 77 X 102 =7 700
53 +10°=0,53 4 x 10%> =400
37 X 10 =3 700 60 +~ 10> =0,6
37 X 10> =3 700 63 + 10°> = 0,63
3 +10%=0,03 29 +10%=0,29
21x10%2=2100 79 x 10> =7900
25 x 10%=2500 88 x 10°=8800
15 x 10> =1500 14 +10%2=0,14
30 X 102 =3 000 37 x 102 =3 700
24 +10%=0,24 87 + 10% = 0,87
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